
$%675$.

)DMDU�<XIULNDO�$]ODQ �� $QDOLVLV� 3HQJXQJNDSDQ� 6WDQGDU� $NXQWDQVL� 6\DULDK�

$$2),),�3DGD�%DQN�6\DULDK�GL�,QGRQHVLD�GDQ�0DOD\VLD

3HULRGH������GDQ������
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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJXML� MXPODK� NHSDWXKDQ SHQJXQJNDSDQ�

VWDQGDU�DNXQWDQVL� V\DULDK�$$2,),�SDGD�%DQN�6\DULDK�GL�,QGRQHVLD�GDQ�0DOD\VLD

XQWXN SHULRGH �����GDQ������ 3HQHOLWLDQ LQL PHQJXNXU NHSDWXKDQ GHQJDQ PHOLKDW

WLJD SURGXN SHPELD\DDQ EDQN V\DULDK \DLWX PXUDEDKDK�� PXGKDUDEDK�� GDQ

PXV\DUDNDK��'DWD� GLNXPSXONDQ� GDUL� ODSRUDQ� WDKXQDQ� ��� EDQN� XPXP� V\DULDK� GL�

,QGRQHVLD�GDQ����EDQN�XPXP�V\DULDK�GL�0DOD\VLD�SHULRGH������GDQ������

3HQHOLWLDQ� LQL� PHUXSDNDQ� SHQHOLWLDQ� NXDQWLWDWLI GHQJDQ� SHQGHNDWDQ�

GHVNULSWLI� -HQLV� GDWD� \DQJ� GLJXQDNDQ� GDODP� SHQLOLWLDQ� LQL� DGDODK� GDWD� VHNXQGHU�

$GDSXQ� GDWD VHNXQGHU� \DQJ�GLJXQDNDQ�GDODP� � DGDODK� GRNXPHQ� 'RNXPHQ� \DQJ�

GLNXPSXONDQ \DLWX�ODSRUDQ�NHXDQJDQ�%DQN�8PXP�6\DULDK�\DQJ�DGD�GL�,QGRQHVLD�

GDQ�0DOD\VLD�XQWXN�SHULRGH����� GDQ�������6DPSHO�GDODP�SHQHOLWLDQ� LQL�DGDODK

��� %DQN� 6\DULDK� GL� ,QGRQHVLD� GDQ� ��� %DQN� 6\DULDK� GL� 0DOD\VLD� $QDOLVLV� GDWD�

\DQJ�GLJXQDNDQ�DGDODK�VWDWLVWLN�GHVNULSWLI�GDQ�XML�W��EHGD��

3HQHOLWLDQ LQL PHQHPXNDQ EDKZD� SHQJXQJNDSDQ EDQN V\DULDK WHUNDLW

PXUDEDKDK� PXGKDUDEDK� GDQ PXV\DUDNDK PDVLK WHUJRORQJ UHQGDK���7LGDN�WHUMDGL�

SHQLQJNDWDQ� DSDSXQ� SDGD� SHQJXQJNDSDQ� PXUDEDKDK�� PXGKDUDEDK� GDQ�

PXV\DUDNDK�VHODPD�SHULRGH������KLQJJD�������EDLN�SDGD�EDQN�V\DULDK�,QGRQHVLD�

PDXSXQ� EDQN� V\DULDK� 0DOD\VLD�� 'LDQWDUD� NHWLJD� SURGXN� EDQN� V\DULDK� WHUVHEXW���

PXUDEDKDK� PHPLOLNL� PHDQ� WHUWLQJJL�� 8ML� W� �EHGD�� PHQXQMXNNDQ� EDKZD� WHUGDSDW�

SHUEHGDDQ� \DQJ� VLJQLILNDQ� GDODP� SHQJXQJNDSDQ� PXUDEDKDK�� PXGKDUDEDK� GDQ

PXV\DUDNDK DQWDUD�EDQN�V\DULDK�,QGRQHVLD�GDQ�EDQN�V\DULDK�0DOD\VLD�


